



Naam: _____

Datum: _____ Score: _____

$$\left(\frac{1}{3} - \frac{1}{2}\right) \times \frac{3}{5} - \frac{1}{5} =$$

$$\left(\frac{3}{4} + \frac{2}{5}\right) \times \frac{1}{3} - \frac{2}{3} =$$

$$\frac{1}{3} + \frac{3}{2}\left(\frac{1}{3} - \frac{1}{3}\right) =$$

$$66\left(\frac{1}{4} - \frac{1}{6}\right) \div 11 =$$

$$54\left(\frac{1}{2} - \frac{1}{2}\right) \div 6 =$$

$$44\left(\frac{3}{2} - \frac{1}{6}\right) \div 4 =$$

$$\frac{1}{6} + \frac{3}{5}\left(\frac{1}{5} + \frac{3}{4}\right) =$$

$$\frac{1}{2} + \frac{1}{2}\left(\frac{3}{2} + \frac{1}{3}\right) =$$

$$\left(16 \div 2 - \frac{1}{5}\right) \times \frac{1}{3} =$$

$$\frac{1}{4} - \frac{1}{2}\left(\frac{1}{4} - \frac{3}{4}\right) =$$



Naam: _____

Datum: _____ Score: _____

$$\left(\frac{1}{3} - \frac{1}{2}\right) \times \frac{3}{5} - \frac{1}{5} = \left(-\frac{3}{10}\right)$$

$$\left(\frac{3}{4} + \frac{2}{5}\right) \times \frac{1}{3} - \frac{2}{3} = \left(-\frac{17}{60}\right)$$

$$\frac{1}{3} + \frac{3}{2}\left(\frac{1}{3} - \frac{1}{3}\right) = \frac{1}{3}$$

$$66\left(\frac{1}{4} - \frac{1}{6}\right) \div 11 = \frac{1}{2}$$

$$54\left(\frac{1}{2} - \frac{1}{2}\right) \div 6 = 0$$

$$44\left(\frac{3}{2} - \frac{1}{6}\right) \div 4 = \frac{44}{3} = 14\frac{2}{3}$$

$$\frac{1}{6} + \frac{3}{5}\left(\frac{1}{5} + \frac{3}{4}\right) = \frac{221}{300}$$

$$\frac{1}{2} + \frac{1}{2}\left(\frac{3}{2} + \frac{1}{3}\right) = \frac{17}{12} = 1\frac{5}{12}$$

$$\left(16 \div 2 - \frac{1}{5}\right) \times \frac{1}{3} = \frac{13}{5} = 2\frac{3}{5}$$

$$\frac{1}{4} - \frac{1}{2}\left(\frac{1}{4} - \frac{3}{4}\right) = \frac{1}{2}$$